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FORMULÁRIO 

 
 

Relações trigonométricas de ângulos agudos 

 

 𝑠𝑒𝑛(𝛼) 𝑐𝑜𝑠(𝛼) 𝑡𝑔(𝛼) 

𝛼 = 0𝑜 0 1 0 

𝛼 = 30𝑜 
1

2
 

√3

2
 

√3

3
 

𝛼 = 45𝑜 
√2

2
 

√2

2
 1 

𝛼 = 60𝑜 
√3

2
 

1

2
 √3 

𝛼 = 90𝑜 1 0 - 

 

Trigonometria 

sen2(𝛼) + cos2 (𝛼) = 1 
sen(𝛼 + 𝛽)= sen(𝛼) ⋅ cos(𝛽) + sen(𝛽) ⋅ cos(𝛼) 
cos(𝛼 + 𝛽)= cos(𝛼) ⋅ cos(𝛽) − sen(𝛼) ⋅ sen(𝛽) 

tg(𝛼) =
sen(𝛼)

cos(𝛼)
 

 

Área do Trapézio 

𝐴 =
𝐵 + 𝑏

2
. ℎ 

 

 

 

Regras de derivação 

(𝑢 + 𝑣)′ = 𝑢′ + 𝑣′ 

(𝑢 . 𝑣)′ = 𝑢′ ⋅ 𝑣 + 𝑢 ⋅ 𝑣′ 

(
𝑢

𝑣
)
′

=
𝑢′ ⋅ 𝑣 − 𝑢 ⋅ 𝑣′

𝑣2
 

(𝑢𝑛)′ = 𝑛 ⋅ 𝑢𝑛−1 ⋅ 𝑢′ 

(sen(𝑢))
′

= 𝑢′ ⋅ cos(𝑢) 

(cos(𝑢))
′

= −𝑢′ ⋅ sen(𝑢) 

(𝑒𝑢)′ = 𝑢′ ⋅ 𝑒𝑢 

(𝑎𝑢)′ = 𝑢′ ⋅ 𝑎𝑢 ⋅ ln(𝑎) 

(ln(𝑢))′ =
𝑢′

𝑢
 

(log𝑎(𝑢))′ =
𝑢′

𝑢 ⋅ ln(𝑎)
 

 

Limites notáveis 

lim
𝑛→∞

(1 +
1

𝑛
)

𝑛

= 𝑒    (𝑛 ∈ ℕ) 

lim
𝑥→0

sin 𝑥

𝑥
 = 1 

lim
𝑥→0

𝑒𝑥 − 1

𝑥
 = 1 

lim
𝑥→+∞

ln 𝑥

𝑥
 = 0 

lim
𝑥→+∞

𝑒𝑥

𝑥𝑝
 = +∞                 (𝑝 ∈ ℝ) 

 

 

 

 


